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1. Copies of *H and 13C NMR spectra
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2. Mechanistic studies — LCMS analysis of raw reaction mixture

Il )

Fig. 1 UV chromatagrams (k=220 nm = 10p, A=254 nen ~ middle) snd Base Pesk chromatograen ~ bottom for samphe: QAT-163

| ‘ . ,"ﬂ “
LA \ |

Fig. 2 Closo -ups of UV chromatograms (=220 nm = top, he254 nm = midele) and Base Peak chromatogram - bottom far samglo: QAT-163

20210824_713_rp2273 lc_MeOH_2a 1143 (11.084) Cm (1142:1146-(1135:1137+1151-1152)) 1: TOF MS ES+
41317 7.34e4
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Fig.11 MS spectrum of the rt=11.08 peak
Experimental Experimental
Instrument Parameters QAT-163 Instrument Parameters QAT-163
- MS -LC
Polarity ESI + Solvent A 0.1% formic acid in water
Capillary voltage (kv) 3.00 Solvent B Methanol
Source temp. [C] 120.0 Run time 16.00 min
Sampling Cone 60.0 Flow rate 0.30 ml/min
Source Offset 50.0 Gradient table time | %A | %B | Curve
Source Gas Flow 0.00 [min]
(mL/min) 0.00 | 95 5 -
Desolvation temp. [C] 250.0 0.50 | 95 5 B
Cone Gas [L/h] 100.0 10.00 0 100 ]
Desolvation Gas Flow 700.0 1200| O 100 B
[L/h] 13.00| 95 | 5 6
MNebuliser Gas Flow[bar] 4.5 16.00 | 95 5 6
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QAT-134

213_rp2209 7 (0.245) Cm (7:9) 1: TOF MS ES+
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Single Mass Analysis

Tolerance = 3.0 mDa / DBE: min = -1.5, max = 100.0

Element prediction: Of

Mumber of isctope peaks used for i-FIT = 3

Monoisotopic Mass, Even Electron lons

20 formulafe) evaluated with 2 results within limits (all results (up to 1000) for 2ach mass)

Elements Used

390 395 400 405 410 415 420 455 460

425 430 435 440 445 450

C:0-100 H: 0-200 0:0-1 Na: 0-1 i 2-2

Mass | Cale.Mass | mDa | PPM [ DBE | Formula |i-FIT_|i-FITNorm | FitConf% | C | H | 0 [Na] Si |

4131740 4131733 07 17 115 C24 H30 O Na 52 7551 0044 9565 A 2 1 1 2
4131757 17 41 145 (% HN OS2 7582 31% 435 ¥ B 1 2
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